

## **Currency Futures & Options Matched Trades**

Report for 04/04/2012

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
8:22:39	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.8200	(78,200.00)	Member	Sell
8:22:39	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.8200	78,200.00	Client	Buy
9:00:03	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1,250	1,250,000	7.8080	9,760,000.00	Member	Buy
9:00:29	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	125	125,000	7.8080	(976,000.00)	Member	Sell
9:00:38	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	125	125,000	7.7080	963,500.00	Member	Buy
9:00:38	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1,250	1,250,000	7.7980	(9,747,500.00)	Client	Sell
9:08:13	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8350	(156,700.00)	Client	Sell
9:08:13	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8350	156,700.00	Client	Buy
9:10:26	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.8350	(7,835.00)	Client	Sell
9:10:26	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.8350	7,835.00	Member	Buy
9:10:30	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.8350	(7,835.00)	Client	Sell
9:10:30	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.8350	7,835.00	Member	Buy
9:10:31	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.8350	(7,835.00)	Client	Sell
9:10:31	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.8350	7,835.00	Member	Buy
9:10:36	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.8350	(7,835.00)	Client	Sell
9:10:36	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.8350	7,835.00	Member	Buy
9:10:38	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.8350	(7,835.00)	Client	Sell
9:10:38	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.8350	7,835.00	Member	Buy
9:13:32	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	28	28,000	7.8358	219,402.40	Member	Buy
9:14:36	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.8365	783,650.00	Member	Buy
9:14:36	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.8365	(783,650.00)	Client	Sell
9:14:49	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	15	15,000	7.8267	117,400.50	Member	Buy
9:14:49	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	15	15,000	7.8267	(117,400.50)	Client	Sell
9:15:57	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.8375	7,837.50	Client	Buy
9:16:07	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8375	156,750.00	Member	Buy
9:16:07	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	7.8375	31,350.00	Member	Buy
9:24:44	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.8422	39,211.00	Member	Buy
9:24:44	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.8422	(39,211.00)	Client	Sell
9:31:33	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8500	(157,000.00)	Client	Sell
9:31:33	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8500	157,000.00	Member	Buy
9:31:34	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	7.8500	(15,700.00)	Client	Sell
9:31:34	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	7.8500	15,700.00	Member	Buy

Page 1 of 13 2012/04/04, 06:31:26PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
9:34:03	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	2,576	2,576,000	7.8465	(20,212,584.00)	Member	Sell
9:34:03	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	2,576	2,576,000	7.8465	20,212,584.00	Client	Buy
9:35:57	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.8487	7,848.70	Member	Buy
9:35:57	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.8487	(7,848.70)	Client	Sell
9:56:47	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8420	(156,840.00)	Client	Sell
9:56:47	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8420	156,840.00	Member	Buy
9:56:48	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8420	(156,840.00)	Client	Sell
9:56:48	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8420	156,840.00	Member	Buy
9:56:51	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	210	210,000	7.8420	(1,646,820.00)	Client	Sell
9:56:51	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	210	210,000	7.8420	1,646,820.00	Member	Buy
9:57:26	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8421	156,842.00	Member	Buy
9:57:26	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8421	(156,842.00)	Member	Sell
9:57:31	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	501	501,000	7.8421	3,928,892.10	Member	Buy
9:57:31	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	501	501,000	7.8421	(3,928,892.10)	Member	Sell
9:57:36	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	400	400,000	7.9450	3,178,000.00	Member	Buy
9:57:36	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	400	400,000	7.9450	(3,178,000.00)	Member	Sell
9:57:46	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8418	156,836.00	Member	Buy
9:57:48	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8418	156,836.00	Member	Buy
9:57:49	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.8418	(784,180.00)	Client	Sell
9:57:49	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	60	60,000	7.8418	470,508.00	Member	Buy
9:58:53	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.8375	(783,750.00)	Member	Sell
9:58:53	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.8375	783,750.00	Member	Buy
9:59:20	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8435	(156,870.00)	Client	Sell
9:59:20	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8435	156,870.00	Member	Buy
9:59:20	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	7.8435	(235,305.00)	Client	Sell
9:59:20	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	7.8435	235,305.00	Member	Buy
9:59:32	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8436	156,872.00	Member	Buy
9:59:32	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8436	(156,872.00)	Member	Sell
10:00:47	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.8445	(7,844.50)	Client	Sell
10:00:47	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.8445	7,844.50	Client	Buy
10:01:18	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8445	(156,890.00)	Client	Sell
10:01:18	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8445	156,890.00	Member	Buy
10:01:10	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	79	79,000	7.8445	(619,715.50)	Client	Sell
10:01:19	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	79	79,000	7.8445	619,715.50	Member	Buy
10:01:19	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.8450	(392,250.00)	Client	Sell
10:01:19	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.8450	392,250.00	Member	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	50 50	50,000	7.8450	(392,250.00)	Client	Sell
10:01:19	\$ / R 18/06/2012			0.00	1	1,000		50,000	7.8450		Member	
10:01:19	\$ / R 18/06/2012	Foreign Exchange Future Foreign Exchange Future		0.00	1	1,000	50 30	20,000	7.8440	392,250.00 156,880.00	Member	Buy Buy
10:01:38	\$ / R 18/06/2012	Foreign Exchange Future		0.00		1,000	20	20,000	7.8440	(156,880.00)		
	\$ / R 18/06/2012 \$ / R 18/06/2012	Foreign Exchange Future			1 1		20 100	100,000	7.8375	783,750.00		Sell
10:02:09	·	· ·		0.00		1,000	100				Member	Buy
10:02:09	\$ / R 18/06/2012 \$ / B 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.8375	(783,750.00)		Sell
10:04:04	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	120	120,000	7.8525	942,300.00	Member	Buy
10:04:25	\$ / R 18/06/2012 \$ / B 18/06/2013	Foreign Exchange Future		0.00	1	1,000	313	313,000	7.8502	(2,457,112.60)		Sell
10:04:25	\$ / R 18/06/2012 \$ / B 18/06/2012	Foreign Exchange Future		0.00	1	1,000	140	140,000	7.8535	1,099,490.00	Member	Buy
10:15:02	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	7.8533	15,706.60	Member	Buy

Page 2 of 13 2012/04/04, 06:31:26PM

10:21:53 \$ / R 18. 10:33:04 \$ / R 18. 10:33:32 \$ / R 18. 10:33:32 \$ / R 18. 10:33:49 \$ / R 18. 10:33:53 \$ / R 18. 10:33:53 \$ / R 18. 10:33:54 \$ / R 18. 10:33:55 \$ / R 18. 10:33:55 \$ / R 18. 10:33:55 \$ / R 18. 10:34:03 \$ / R 18. 10:34:03 \$ / R 18. 10:34:03 \$ / R 18. 10:34:04 \$ / R 18. 10:34:05 \$ / R 18. 10:34:06 \$ / R 18.	18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012	Foreign Exchange Future	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000	1 1 1 19 25 5 15	1,000 1,000 1,000 1,000 19,000 25,000 5,000 15,000	7.8485 7.8485 7.8525 7.8525 7.8525 7.8525 7.8570 7.8570	7,848.50 (7,848.50) 7,852.50 149,197.50 (196,312.50) 39,262.50 (117,855.00) 117,855.00	Member Client Client Member Client Member Client Member	Buy Sell Buy Sell Buy Sell
10:21:53 \$ / R 18. 10:33:04 \$ / R 18. 10:33:32 \$ / R 18. 10:33:32 \$ / R 18. 10:33:49 \$ / R 18. 10:33:53 \$ / R 18. 10:33:53 \$ / R 18. 10:33:54 \$ / R 18. 10:33:55 \$ / R 18. 10:33:55 \$ / R 18. 10:33:55 \$ / R 18. 10:34:03 \$ / R 18. 10:34:03 \$ / R 18. 10:34:03 \$ / R 18. 10:34:04 \$ / R 18. 10:34:05 \$ / R 18. 10:34:06 \$ / R 18.	18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012	Foreign Exchange Future	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	1 1 1 1 1 1 1	1,000 1,000 1,000 1,000 1,000 1,000 1,000	19 25 5 15	1,000 1,000 19,000 25,000 5,000 15,000	7.8485 7.8525 7.8525 7.8525 7.8525 7.8525 7.8570	(7,848.50) 7,852.50 149,197.50 (196,312.50) 39,262.50 (117,855.00)	Client Client Member Client Member Client	Sell Buy Buy Sell Buy Sell
10:33:04 \$ / R 18. 10:33:32 \$ / R 18. 10:33:32 \$ / R 18. 10:33:49 \$ / R 18. 10:33:53 \$ / R 18. 10:33:53 \$ / R 18. 10:33:54 \$ / R 18. 10:33:55 \$ / R 18. 10:33:55 \$ / R 18. 10:34:03 \$ / R 18. 10:34:03 \$ / R 18. 10:34:04 \$ / R 18. 10:34:05 \$ / R 18. 10:34:06 \$ / R 18.	18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012	Foreign Exchange Future	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	1 1 1 1 1 1	1,000 1,000 1,000 1,000 1,000 1,000	19 25 5 15	1,000 19,000 25,000 5,000 15,000	7.8525 7.8525 7.8525 7.8525 7.8570	7,852.50 149,197.50 (196,312.50) 39,262.50 (117,855.00)	Client Member Client Member Client	Sell Buy Buy Sell Buy Sell
10:33:30 \$ / R 18, 10:33:32 \$ / R 18, 10:33:32 \$ / R 18, 10:33:49 \$ / R 18, 10:33:53 \$ / R 18, 10:33:54 \$ / R 18, 10:33:55 \$ / R 18, 10:33:55 \$ / R 18, 10:33:55 \$ / R 18, 10:34:03 \$ / R 18, 10:34:03 \$ / R 18, 10:34:04 \$ / R 18, 10:34:04 \$ / R 18, 10:34:04 \$ / R 18, 10:34:05 \$ / R 18, 10:34:45 \$ / R 18, 10:34:45 \$ / R 18, 10:34:45 \$ / R 18, 10:34:46 \$ /	18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012	Foreign Exchange Future	0.00 0.00 0.00 0.00 0.00 0.00 0.00	1 1 1 1 1	1,000 1,000 1,000 1,000 1,000 1,000	19 25 5 15	1,000 19,000 25,000 5,000 15,000	7.8525 7.8525 7.8525 7.8570	7,852.50 149,197.50 (196,312.50) 39,262.50 (117,855.00)	Member Client Member Client	Buy Sell Buy Sell
10:33:32 \$ / R 18. 10:33:49 \$ / R 18. 10:33:49 \$ / R 18. 10:33:53 \$ / R 18. 10:33:54 \$ / R 18. 10:33:55 \$ / R 18. 10:33:55 \$ / R 18. 10:34:03 \$ / R 18. 10:34:03 \$ / R 18. 10:34:04 \$ / R 18. 10:34:05 \$ / R 18. 10:34:06 \$ / R 18. 10:34:06 \$ / R 18. 10:34:43 \$ / R 18. 10:34:44 \$ / R 18. 10:44:43 \$ / R 18. 10:44:45 \$ / R 18. 10:44:45 \$ / R 18. 10:44:46 \$ / R 18.	18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012	Foreign Exchange Future	0.00 0.00 0.00 0.00 0.00 0.00	1 1 1 1	1,000 1,000 1,000 1,000 1,000	25 5 15	25,000 5,000 15,000	7.8525 7.8525 7.8570	(196,312.50) 39,262.50 (117,855.00)	Client Member Client	Sell Buy Sell
10:33:32 \$ / R 18. 10:33:49 \$ / R 18. 10:33:53 \$ / R 18. 10:33:54 \$ / R 18. 10:33:55 \$ / R 18. 10:33:55 \$ / R 18. 10:34:03 \$ / R 18. 10:34:03 \$ / R 18. 10:34:04 \$ / R 18. 10:34:05 \$ / R 18. 10:34:06 \$ / R 18. 10:34:06 \$ / R 18. 10:34:06 \$ / R 18. 10:34:43 \$ / R 18. 10:34:44 \$ / R 18. 10:44:43 \$ / R 18. 10:44:45 \$ / R 18. 10:44:45 \$ / R 18. 10:44:46 \$ / R 18.	18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012	Foreign Exchange Future	0.00 0.00 0.00 0.00 0.00 0.00	1 1 1 1	1,000 1,000 1,000 1,000	5 15	5,000 15,000	7.8525 7.8570	39,262.50 (117,855.00)	Member Client	Sell Buy Sell
10:33:49 \$ / R 18, 10:33:49 \$ / R 18, 10:33:53 \$ / R 18, 10:33:54 \$ / R 18, 10:33:55 \$ / R 18, 10:33:55 \$ / R 18, 10:34:03 \$ / R 18, 10:34:03 \$ / R 18, 10:34:06 \$ / R 18, 10:34:43 \$ / R 18, 10:34:43 \$ / R 18, 10:34:44 \$ / R 18, 10:44:45 \$ / R 18, 10:44:45 \$ / R 18, 10:44:45 \$ / R 18, 10:44:46 \$ /	18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012	Foreign Exchange Future	0.00 0.00 0.00 0.00 0.00	1 1 1	1,000 1,000 1,000	15	15,000	7.8570	(117,855.00)	Client	Sell
10:33:49 \$ / R 18, 10:33:53 \$ / R 18, 10:33:54 \$ / R 18, 10:33:55 \$ / R 18, 10:33:55 \$ / R 18, 10:34:03 \$ / R 18, 10:34:03 \$ / R 18, 10:34:04 \$ / R 18, 10:34:43 \$ / R 18, 10:34:43 \$ / R 18, 10:34:44 \$ / R 18, 10:34:45 \$ / R 18, 10:34:45 \$ / R 18, 10:34:45 \$ / R 18, 10:34:46 \$ /	18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012	Foreign Exchange Future	0.00 0.00 0.00 0.00	1 1	1,000 1,000						Sell
10:33:53 \$ / R 18. 10:33:54 \$ / R 18. 10:33:55 \$ / R 18. 10:33:55 \$ / R 18. 10:33:55 \$ / R 18. 10:34:03 \$ / R 18. 10:34:03 \$ / R 18. 10:34:06 \$ / R 18. 10:34:43 \$ / R 18. 10:34:43 \$ / R 18. 10:44:43 \$ / R 18. 10:44:45 \$ / R 18. 10:44:45 \$ / R 18. 10:44:46 \$ / R 18.	18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012	Foreign Exchange Future	0.00 0.00 0.00	1	1,000	15	15,000	7.8570	117,855.00	Member	_
10:33:53 \$ / R 18. 10:33:54 \$ / R 18. 10:33:55 \$ / R 18. 10:33:55 \$ / R 18. 10:34:03 \$ / R 18. 10:34:03 \$ / R 18. 10:34:06 \$ / R 18. 10:34:06 \$ / R 18. 10:34:43 \$ / R 18. 10:44:43 \$ / R 18. 10:44:45 \$ / R 18. 10:44:45 \$ / R 18. 10:44:46 \$ / R 18.	18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012	Foreign Exchange Future	0.00 0.00	•						MICHIDE	Buy
10:33:54 \$ / R 18. 10:33:55 \$ / R 18. 10:33:55 \$ / R 18. 10:34:03 \$ / R 18. 10:34:03 \$ / R 18. 10:34:06 \$ / R 18. 10:34:06 \$ / R 18. 10:34:43 \$ / R 18. 10:44:43 \$ / R 18. 10:44:45 \$ / R 18. 10:44:45 \$ / R 18. 10:44:46 \$ / R 18.	18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012	Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future	0.00	1		20	20,000	7.8570	(157,140.00)	Client	Sell
10:33:54 \$ / R 18, 10:33:55 \$ / R 18, 10:34:03 \$ / R 18, 10:34:06 \$ / R 18, 10:34:06 \$ / R 18, 10:34:43 \$ / R 18, 10:44:43 \$ / R 18, 10:44:45 \$ / R 18, 10:44:45 \$ / R 18, 10:44:46 \$ /	18/06/2012 18/06/2012 18/06/2012 18/06/2012 18/06/2012	Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future			1,000	20	20,000	7.8570	157,140.00	Member	Buy
10:33:55 \$ / R 18. 10:33:55 \$ / R 18. 10:34:03 \$ / R 18. 10:34:06 \$ / R 18. 10:34:06 \$ / R 18. 10:34:06 \$ / R 18. 10:44:43 \$ / R 18. 10:44:45 \$ / R 18. 10:44:45 \$ / R 18. 10:44:46 \$ / R 18.	18/06/2012 18/06/2012 18/06/2012 18/06/2012	Foreign Exchange Future Foreign Exchange Future	0.00	1	1,000	20	20,000	7.8570	(157,140.00)	Client	Sell
10:33:55 \$ / R 18. 10:34:03 \$ / R 18. 10:34:06 \$ / R 18. 10:34:06 \$ / R 18. 10:34:06 \$ / R 18. 10:44:43 \$ / R 18. 10:44:45 \$ / R 18. 10:44:45 \$ / R 18. 10:44:46 \$ / R 18.	18/06/2012 18/06/2012 18/06/2012	Foreign Exchange Future	0.00	1	1,000	20	20,000	7.8570	157,140.00	Member	Buy
10:34:03 \$ / R 18. 10:34:06 \$ / R 18. 10:34:06 \$ / R 18. 10:34:06 \$ / R 18. 10:44:43 \$ / R 18. 10:44:45 \$ / R 18. 10:44:45 \$ / R 18. 10:44:46 \$ / R 18.	18/06/2012 18/06/2012	•	0.00	1	1,000	20	20,000	7.8570	(157,140.00)	Client	Sell
10:34:03 \$ / R 18. 10:34:06 \$ / R 18. 10:34:06 \$ / R 18. 10:44:43 \$ / R 18. 10:44:45 \$ / R 18. 10:44:45 \$ / R 18. 10:44:46 \$ / R 18.	18/06/2012	Foreign Eveksons Future	0.00	1	1,000	20	20,000	7.8570	157,140.00	Member	Buy
10:34:06 \$ / R 18, 10:34:06 \$ / R 18, 10:44:43 \$ / R 18, 10:44:43 \$ / R 18, 10:44:45 \$ / R 18, 10:44:45 \$ / R 18, 10:44:46 \$ / R 18,		Foreign Exchange Future	0.00	1	1,000	20	20,000	7.8570	(157,140.00)	Client	Sell
10:34:06 \$ / R 18, 10:44:43 \$ / R 18, 10:44:43 \$ / R 18, 10:44:45 \$ / R 18, 10:44:45 \$ / R 18, 10:44:46 \$ / R 18,	19/06/2012	Foreign Exchange Future	0.00	1	1,000	20	20,000	7.8570	157,140.00	Member	Buy
10:44:43 \$ / R 18. 10:44:43 \$ / R 18. 10:44:45 \$ / R 18. 10:44:45 \$ / R 18. 10:44:46 \$ / R 18.	10/00/2012	Foreign Exchange Future	0.00	1	1,000	20	20,000	7.8570	(157,140.00)	Client	Sell
10:44:43 \$ / R 18, 10:44:45 \$ / R 18, 10:44:45 \$ / R 18, 10:44:46 \$ / R 18,	18/06/2012	Foreign Exchange Future	0.00	1	1,000	20	20,000	7.8570	157,140.00	Member	Buy
10:44:45 \$ / R 18. 10:44:45 \$ / R 18. 10:44:46 \$ / R 18.	18/06/2012	Foreign Exchange Future	0.00	1	1,000	10	10,000	7.8555	(78,555.00)	Client	Sell
10:44:45 \$ / R 18 10:44:46 \$ / R 18	18/06/2012	Foreign Exchange Future	0.00	1	1,000	10	10,000	7.8555	78,555.00	Member	Buy
10:44:46 \$ / R 18	18/06/2012	Foreign Exchange Future	0.00	1	1,000	20	20,000	7.8570	(157,140.00)	Client	Sell
•	18/06/2012	Foreign Exchange Future	0.00	1	1,000	20	20,000	7.8570	157,140.00	Member	Buy
10:44:46 ¢/D10	18/06/2012	Foreign Exchange Future	0.00	1	1,000	15	15,000	7.8570	(117,855.00)	Client	Sell
10.44.40 \$ / K 10/	18/06/2012	Foreign Exchange Future	0.00	1	1,000	15	15,000	7.8570	117,855.00	Member	Buy
10:51:10 \$ / R 17	17/09/2012	Foreign Exchange Future	0.00	1	1,000	400	400,000	7.9576	3,183,040.00	Member	Buy
10:51:10 \$ / R 17	17/09/2012	Foreign Exchange Future	0.00	1	1,000	400	400,000	7.9576	(3,183,040.00)	Member	Sell
10:52:37 \$ / R 18	18/06/2012	Foreign Exchange Future	0.00	1	1,000	1	1,000	7.8600	(7,860.00)	Client	Sell
10:52:37 \$ / R 18	18/06/2012	Foreign Exchange Future	0.00	1	1,000	1	1,000	7.8600	7,860.00	Member	Buy
10:55:10 \$ / R 18	18/06/2012	Foreign Exchange Future	0.00	1	1,000	4	4,000	7.8600	(31,440.00)	Client	Sell
10:55:10 \$ / R 18	18/06/2012	Foreign Exchange Future	0.00	1	1,000	4	4,000	7.8600	31,440.00	Member	Buy
10:55:12 \$ / R 18	18/06/2012	Foreign Exchange Future	0.00	1	1,000	1	1,000	7.8600	(7,860.00)	Client	Sell
10:55:12 \$ / R 18	18/06/2012	Foreign Exchange Future	0.00	1	1,000	1	1,000	7.8600	7,860.00	Member	Buy
11:00:52 \$ / R 18	18/06/2012	Foreign Exchange Future	0.00	1	1,000	20	20,000	7.8611	(157,222.00)	Member	Sell
11:00:52 \$ / R 18	18/06/2012	Foreign Exchange Future	0.00	1	1,000	20	20,000	7.8611	157,222.00	Member	Buy
11:01:54 \$ / R 18	18/06/2012	Foreign Exchange Future	0.00	1	1,000	10	10,000	7.8575	78,575.00	Member	Buy
11:01:54 \$ / R 18	18/06/2012	Foreign Exchange Future	0.00	1	1,000	10	10,000	7.8575	(78,575.00)	Client	Sell
11:07:33 \$ / R 18	18/06/2012	Foreign Exchange Future	0.00	1	1,000	1	1,000	7.8565	7,856.50	Member	Buy
11:07:33 \$ / R 18	18/06/2012	Foreign Exchange Future	0.00	1	1,000	1	1,000	7.8565	(7,856.50)	Client	Sell
11:08:35 \$ / R 18	18/06/2012	Foreign Exchange Future	0.00	1	1,000	25	25,000	7.8625	(196,562.50)	Client	Sell
11:08:35 \$ / R 18	18/06/2012	Foreign Exchange Future	0.00	1	1,000	20	20,000	7.8631	(157,262.00)	Member	Sell
11:08:35 \$ / R 18	18/06/2012	Foreign Exchange Future	0.00	1	1,000	505	505,000	7.8635	(3,971,067.50)	Member	Sell
11:08:35 \$ / R 18	18/06/2012	Foreign Exchange Future	0.00	1	1,000	550	550,000	7.8634	4,324,870.00	Client	Buy
11:09:59 \$ / R 18	18/06/2012	Foreign Exchange Future	0.00	1	1,000	20	20,000	7.8612	(157,224.00)	Member	Sell
11:09:59 \$ / R 18	18/06/2012	Foreign Exchange Future	0.00	1	1,000	20	20,000	7.8612	157,224.00	Client	Buy
11:09:59 \$ / R 18	18/06/2012	Foreign Exchange Future	0.00	1	1,000	5	5,000	7.8615	(39,307.50)	Member	Sell
11:09:59 \$ / R 18		Foreign Exchange Future	0.00	1	1,000	5	5,000	7.8615	39,307.50	Client	Buy

Page 3 of 13 2012/04/04, 06:31:26PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
11:12:35	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	15	15,000	7.8650	(117,975.00)	Client	Sell
11:12:35	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	15	15,000	7.8650	117,975.00	Client	Buy
11:15:52	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	19	19,000	7.8650	(149,435.00)	Client	Sell
11:15:52	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	19	19,000	7.8650	149,435.00	Member	Buy
11:15:52	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8650	(157,300.00)	Client	Sell
11:15:52	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8650	157,300.00	Member	Buy
11:15:52	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8650	(157,300.00)	Client	Sell
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8650	157,300.00	Member	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8650	(157,300.00)	Client	Sell
11:15:53	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8650	157,300.00	Member	Buy
11:15:54	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	6	6,000	7.8650	(47,190.00)	Client	Sell
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	6	6,000	7.8650	47,190.00	Member	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	7.8650	15,730.00	Member	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8671		Member	Sell
11:17:33	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8671	(157,342.00)	Member	Sell
11:17:34	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8671	(157,342.00)	Member	Sell
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8671	(157,342.00)		Sell
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8671			Sell
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8671			Sell
11:17:37	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8671			Sell
11:17:38	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8671			Sell
11:17:39	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8671	(157,342.00)	Member	Sell
11:17:40	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	200	200,000	7.8671	1,573,420.00	Client	Buy
11:17:40	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8671			Sell
	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.0765	807,650.00	Client	Buy
	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.0765	(807,650.00)	Member	Sell
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	12	12,000	7.8593	94,311.60	Member	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	12	12,000	7.8593	(94,311.60)	Member	Sell
11:24:44	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	12	12,000	8.0677	96,812.40	Member	Buy
11:24:44	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	12	12,000	8.0677			Sell
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	7.8645			Sell
11:26:37	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	7.8645	15,729.00	Client	Buy
11:33:29	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8668	157,336.00	Member	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8668	(157,336.00)	Client	Sell
11:34:08	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	15	15,000	7.8650	(117,975.00)	Client	Sell
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	15	15,000	7.8650	117,975.00	Member	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8690	(157,380.00)		Sell
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8690	157,380.00	Member	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8690			Sell
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8690	157,380.00	Member	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8690			Sell
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8690	157,380.00	Member	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8690	(157,380.00)		Sell
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8690	157,380.00	Member	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8690		Client	Sell
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8690	157,380.00	Member	Buy
11.72.70	ψ / 1 ( 10/00/2012	i oroigh Exchange i utule		0.00	'	1,000	20	20,000	7.5030	107,300.00	WICHIDG	Duy

Page 4 of 13 2012/04/04, 06:31:26PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
11:42:43	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8690	(157,380.00)	Client	Sell
11:42:43	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8690	157,380.00	Member	Buy
11:42:45	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8690	(157,380.00)	Client	Sell
11:42:45	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8690	157,380.00	Member	Buy
11:42:46	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.8690	(78,690.00)	Client	Sell
11:42:46	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.8690	78,690.00	Member	Buy
12:08:06	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	31	31,000	8.1737	253,384.70	Member	Buy
12:09:10	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	32	32,000	7.9660	254,912.00	Member	Buy
12:09:15	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.8640	78,640.00	Member	Buy
12:09:16	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8640	157,280.00	Member	Buy
12:09:16	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	7.8640	15,728.00	Member	Buy
12:11:55	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.8700	(7,870.00)	Client	Sell
12:11:55	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.8700	7,870.00	Client	Buy
12:11:58	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.8700	(7,870.00)	Client	Sell
12:11:58	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.8700	7,870.00	Member	Buy
12:11:58	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	17	17,000	7.8700	(133,790.00)	Client	Sell
12:11:58	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	17	17,000	7.8700	133,790.00	Member	Buy
12:11:58	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8700	(157,400.00)	Client	Sell
12:11:58	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8700	157,400.00	Member	Buy
12:11:59	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8700	(157,400.00)	Client	Sell
12:11:59	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8700	157,400.00	Member	Buy
12:12:00	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8700	(157,400.00)	Client	Sell
12:12:00	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8700	157,400.00	Member	Buy
12:12:01	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8700	(157,400.00)	Client	Sell
12:12:01	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8700	157,400.00	Member	Buy
12:12:02	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	7.8700	(23,610.00)	Client	Sell
12:12:02	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	7.8700	23,610.00	Member	Buy
12:12:23	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	17	17,000	7.8710	(133,807.00)	Client	Sell
12:12:23	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	17	17,000	7.8710	133,807.00	Member	Buy
12:12:23	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8710	(157,420.00)	Client	Sell
12:12:23	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8710	157,420.00	Member	Buy
12:12:24	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8710	(157,420.00)	Client	Sell
12:12:24	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8710	157,420.00	Member	Buy
12:12:24	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8710	(157,420.00)	Client	Sell
12:12:24	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8710	157,420.00	Member	Buy
12:12:25	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8710	(157,420.00)	Client	Sell
12:12:25	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8710	157,420.00)	Member	Buy
12:12:25	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000			7.8710		Client	Sell
12:12:25	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000 20,000	7.8710	(157,420.00) 157,420.00	Member	Buy
12:12:27	\$ / R 18/06/2012			0.00		1,000	20	20,000	7.8710	(157,420.00)		
12:12:27	\$ / R 18/06/2012	Foreign Exchange Future			1 1		20	20,000	7.8710	157,420.00)	Member	Sell
		Foreign Exchange Future		0.00		1,000	20			,		Buy
12:12:28	\$ / R 18/06/2012 \$ / B 18/06/2012	Foreign Exchange Future		0.00	1	1,000	13	13,000	7.8710	(102,323.00)	Client	Sell
12:12:28	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	13	13,000	7.8710	102,323.00	Member	Buy
12:16:09	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.8715	7,871.50	Member	Buy
12:16:09	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.8715	(7,871.50)		Sell
12:17:04	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	180	180,000	7.8750	(1,417,500.00)	Client	Sell

Page 5 of 13 2012/04/04, 06:31:26PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
12:17:04	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	180	180,000	7.8750	1,417,500.00	Member	Buy
12:19:59	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	6	6,000	7.8782	47,269.20	Member	Buy
12:20:00	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.8782	(78,782.00)	Client	Sell
12:20:00	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	7.8782	31,512.80	Member	Buy
12:21:22	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.8799	(7,879.90)	Client	Sell
12:21:22	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.8799	7,879.90	Member	Buy
12:21:24	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	7.8800	15,760.00	Member	Buy
12:21:24	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	13	13,000	7.8800	(102,440.00)	Client	Sell
12:21:24	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	13	13,000	7.8800	102,440.00	Member	Buy
12:21:24	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	7	7,000	7.8800	(55,160.00)	Client	Sell
12:21:24	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	7	7,000	7.8800	55,160.00	Member	Buy
12:27:24	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.8820	(39,410.00)	Client	Sell
12:27:24	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.8820	39,410.00	Member	Buy
12:28:25	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	19	19,000	8.0997	(153,894.30)	Member	Sell
12:28:25	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.0844	404,220.00	Client	Buy
12:29:09	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8841	(157,682.00)	Member	Sell
12:29:09	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8841	157,682.00	Member	Buy
12:29:31	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8852	157,704.00	Member	Buy
12:29:31	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8852	(157,704.00)	Member	Sell
12:29:32	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8852	157,704.00	Member	Buy
12:29:32	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8852	(157,704.00)	Member	Sell
12:29:32	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1,210	1,210,000	7.8852	9,541,092.00	Member	Buy
12:31:48	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8851	(157,702.00)	Member	Sell
12:31:48	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8851	157,702.00	Member	Buy
12:31:51	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8852	157,704.00	Member	Buy
12:31:55	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8852	157,704.00	Member	Buy
12:32:21	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.8759	393,795.00	Member	Buy
12:32:21	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.8759	(393,795.00)	Client	Sell
12:33:00	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.8818	(7,881.80)	Member	Sell
12:33:00	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.8818	7,881.80	Client	Buy
12:44:29	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	125	125,000	7.7852	973,150.00	Member	Buy
12:44:29	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1,250	1,250,000	7.8752	(9,844,000.00)	Client	Sell
12:48:45	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	8.0950	(202,375.00)	Member	Sell
12:49:37	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8779	(157,558.00)	Client	Sell
12:49:37	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8779	157,558.00	Member	Buy
12:49:39	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	7.8779	(196,947.50)	Client	Sell
12:49:39	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	7.8779	196,947.50	Member	Buy
12:50:10	\$ / R 17/09/2012	•			1	1,000			7.9860			Sell
12:50:10	\$ / R 17/09/2012 \$ / R 17/09/2012	Foreign Exchange Future Foreign Exchange Future		0.00 0.00	1	1,000	20	20,000 20,000	7.9860	(159,720.00) 159,720.00	Member	Buy
12:54:03	\$ / R 18/06/2012	Foreign Exchange Future		0.00		1,000	20	20,000	7.8850	157,700.00		
		•			1 1		20			,	Member	Buy
12:54:03	\$ / R 18/06/2012 \$ / R 18/06/2012	Foreign Exchange Future		0.00		1,000	20	20,000	7.8850 7.8850	157,700.00	Member Member	Buy
12:54:04	\$ / R 18/06/2012 \$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8850 7.8850	157,700.00	Member Member	Buy
12:54:07	\$ / R 18/06/2012 \$ / B 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20 100	20,000	7.8850	157,700.00	Member	Buy
12:54:10	\$ / R 18/06/2012 \$ / B 18/06/2012	Foreign Exchange Future Foreign Exchange Future		0.00	1	1,000	100	100,000	7.8850	(788,500.00)		Sell
12:54:10	\$ / R 18/06/2012 \$ / R 18/06/2012	•		0.00	1	1,000	20	20,000	7.8850	157,700.00	Member	Buy
12:56:46	φ/K 10/U0/2U12	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8900	(157,800.00)	Client	Sell

Page 6 of 13 2012/04/04, 06:31:26PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand		Buy/ Sell
12:56:46	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8900	157,800.00	Member	Buy
12:56:47	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8900	(157,800.00)	Client	Sell
12:56:47	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8900	157,800.00	Member	Buy
12:56:48	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.8900	(78,900.00)	Client	Sell
12:56:48	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.8900	78,900.00	Member	Buy
12:58:33	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.8999	(7,899.90)	Client	Sell
12:58:33	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.8999	7,899.90	Member	Buy
12:58:35	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	9	9,000	7.9000	(71,100.00)	Client	Sell
12:58:35	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	9	9,000	7.9000	71,100.00	Member	Buy
12:58:36	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9000	(158,000.00)	Client	Sell
12:58:36	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9000	158,000.00	Member	Buy
12:58:36	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9000	(158,000.00)	Client	Sell
12:58:36	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9000	158,000.00	Member	Buy
12:58:36	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9000	(158,000.00)	Client	Sell
12:58:36	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9000	158,000.00	Member	Buy
12:58:37	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9000	(158,000.00)	Client	Sell
12:58:37	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9000	158,000.00	Member	Buy
12:58:39	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	11	11,000	7.9000	(86,900.00)	Client	Sell
12:58:39	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	11	11,000	7.9000	86,900.00	Member	Buy
12:59:28	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	9	9,000	7.9037	71,133.30	Member	Buy
12:59:28	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	9	9,000	7.9037	(71,133.30)	Client	Sell
12:59:28	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	21	21,000	7.9037	165,977.70	Member	Buy
12:59:28	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	21	21,000	7.9037	(165,977.70)	Client	Sell
13:03:48	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	7.9070		Client	Sell
13:03:48	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	7.9070	31,628.00	Member	Buy
13:04:12	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9090	(158,180.00)	Member	Sell
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9090	158,180.00	Member	Buy
13:04:13	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9090	(158,180.00)	Member	Sell
13:04:13	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9090	158,180.00	Member	Buy
13:04:13	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9090	(158,180.00)	Member	Sell
13:04:13	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9090	158,180.00	Member	Buy
13:04:14	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9090	(158,180.00)	Member	Sell
13:04:14	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9090	158,180.00	Member	Buy
13:04:15	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9090	(158,180.00)	Member	Sell
13:04:15	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9090	158,180.00	Member	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9090	*	Member	Sell
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9090	158,180.00	Member	Buy
	\$ / R 18/06/2012			0.00	1	1,000	20	20,000	7.9090			Sell
13:04:17	\$ / R 18/06/2012 \$ / R 18/06/2012	Foreign Exchange Future Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9090	(158,180.00) 158,180.00	Member	Buy
13:04:19 13:04:19	\$ / R 18/06/2012 \$ / R 18/06/2012	Foreign Exchange Future		0.00 0.00	1 1	1,000	20 20	20,000	7.9090 7.9090	(158,180.00) 158,180.00	Member Member	Sell
	·	Foreign Exchange Future				1,000		20,000				Buy
13:04:19	\$ / R 18/06/2012 \$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9090	,	Member Member	Sell
	\$ / R 18/06/2012 \$ / B 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9090	158,180.00	Member	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9090		Member	Sell
13:04:20	\$ / R 18/06/2012 \$ / B 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9090	158,180.00	Member	Buy
13:04:21	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9090	(158,180.00)	iviember	Sell

Page 7 of 13 2012/04/04, 06:31:26PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
13:04:21	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9090	158,180.00	Member	Buy
13:04:22	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9090	(158,180.00)	Member	Sell
13:04:22	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9090	158,180.00	Member	Buy
13:04:22	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9090	(158,180.00)	Member	Sell
13:04:22	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9090	158,180.00	Member	Buy
13:04:23	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9090	(158,180.00)	Member	Sell
13:04:23	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9090	158,180.00	Member	Buy
13:04:24	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	8.1283	(203,207.50)	Member	Sell
13:04:24	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.1117	405,585.00	Client	Buy
13:04:30	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	7.9044	(23,713.20)	Client	Sell
13:04:30	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	7.9044	23,713.20	Member	Buy
13:04:39	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	17	17,000	7.9090	(134,453.00)	Member	Sell
13:04:39	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	17	17,000	7.9090	134,453.00	Member	Buy
13:04:40	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9090	(158,180.00)	Member	Sell
13:04:40	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9090	158,180.00	Member	Buy
13:05:00	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9134	(158,268.00)	Member	Sell
13:05:00	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9134	158,268.00	Member	Buy
13:05:06	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9095	(158,190.00)	Client	Sell
13:05:06	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9095	158,190.00	Member	Buy
13:05:06	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9095	(158,190.00)	Client	Sell
13:05:06	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9095	158,190.00	Member	Buy
13:05:15	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	7.9090	(3,954,500.00)	Member	Sell
13:07:19	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9180		Client	Sell
13:07:19	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9180	158,360.00	Member	Buy
13:07:39	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.9290	(396,450.00)	Member	Sell
13:07:39	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	7.9110	3,955,500.00	Client	Buy
13:07:55	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9155	158,310.00	Member	Buy
13:07:55	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9155	(158,310.00)	Client	Sell
13:14:18	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	750	750,000	7.9134	5,935,050.00	Member	Buy
13:14:18	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	90	90,000	7.9134			Sell
13:14:18	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	7.9144	1,978,600.00	Member	Buy
13:14:18	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	7.9144	(1,978,600.00)	Client	Sell
13:15:34	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	11	11,000	7.9155	87,070.50	Client	Buy
13:15:34	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	11	11,000	7.9155	(87,070.50)	Member	Sell
13:16:26	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.9107	7,910.70	Member	Buy
13:16:26	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	7	7,000	7.8723			Sell
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.9150	(7,915.00)		Sell
13:18:59	\$ / R 18/06/2012 \$ / R 18/06/2012			0.00	1	1,000	1	1,000	7.9150	7,915.00	Client	
	\$ / R 18/06/2012 \$ / R 18/06/2012	Foreign Exchange Future Foreign Exchange Future		0.00	1	1,000	660	660,000	7.9134			Buy Sell
	·				1		9					
13:23:15 13:23:30	\$ / R 18/06/2012 \$ / R 18/06/2012	Foreign Exchange Future		0.00 0.00	1	1,000		9,000 20,000	7.9100 7.9100	(71,190.00)		Sell Sell
		Foreign Exchange Future				1,000	20		7.9100	(158,200.00)		
	\$ / R 18/06/2012 \$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9100 7.9100	(158,200.00)		Sell
	\$ / R 18/06/2012 \$ / B 18/06/2013	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9100	(158,200.00)		Sell
	\$ / R 18/06/2012 \$ / B 18/06/2012	Foreign Exchange Future		0.00	1	1,000	80	80,000	7.9100	632,800.00	Client	Buy
13:23:34	\$ / R 18/06/2012 \$ / B 17/00/2012	Foreign Exchange Future		0.00	1	1,000	11	11,000	7.9100	(87,010.00)		Sell
13:26:54	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	80	80,000	8.0091	(640,728.00)	iviember	Sell

Page 8 of 13 2012/04/04, 06:31:26PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of	Nominal Underlying	Quantity	Foreign	Traded		Trade	Buy/
Tille					Trades	Value		Nominal	Price	in Rand	туре	Sell
13:26:54	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	80	80,000	8.0091	640,728.00	Client	Buy
13:48:17	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	19	19,000	7.9000	(150,100.00)	Client	Sell
13:48:17	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	19	19,000	7.9000	150,100.00	Member	Buy
13:48:17	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9000	(158,000.00)	Client	Sell
13:48:17	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9000	158,000.00	Member	Buy
13:48:17	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	11	11,000	7.9000	(86,900.00)	Client	Sell
13:48:17	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	11	11,000	7.9000	86,900.00	Member	Buy
13:53:44	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	31	31,000	8.0550	249,705.00	Member	Buy
13:53:44	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	31	31,000	8.0550	(249,705.00)	Client	Sell
13:53:56	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	31	31,000	8.1537	252,764.70	Member	Buy
13:53:56	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	31	31,000	8.1537	(252,764.70)	Client	Sell
13:54:10	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	32	32,000	7.9460	254,272.00	Member	Buy
13:54:10	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	32	32,000	7.9460	(254,272.00)	Client	Sell
13:54:29	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	32	32,000	7.8440	251,008.00	Member	Buy
13:54:29	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	32	32,000	7.8440	(251,008.00)	Client	Sell
14:01:05	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	9	9,000	7.8949	71,054.10	Member	Buy
14:01:05	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	9	9,000	7.8949	(71,054.10)	Client	Sell
14:01:05	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	11	11,000	7.8941	86,835.10	Member	Buy
14:01:05	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	11	11,000	7.8941	(86,835.10)	Client	Sell
14:01:45	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.8981	(789,810.00)	Member	Sell
14:01:45	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.8981	789,810.00	Client	Buy
14:14:50	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	7.8939	236,817.00	Member	Buy
14:14:50	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	7.8939	(236,817.00)	Client	Sell
14:21:14	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	9	9,000	7.9016	(71,114.40)	Member	Sell
14:21:14	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	9	9,000	7.9016	71,114.40	Client	Buy
14:21:14	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	291	291,000	7.9020	(2,299,482.00)	Member	Sell
14:21:14	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	291	291,000	7.9020	2,299,482.00	Client	Buy
14:22:25	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.8974	7,897.40	Member	Buy
14:22:25	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.8974	(7,897.40)	Client	Sell
14:24:30	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.8994	(7,899.40)	Client	Sell
14:24:30	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.8994	7,899.40	Member	Buy
14:25:54	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.8992	7,899.20	Member	Buy
14:25:54	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.8992	(7,899.20)	Client	Sell
14:28:18	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.0038	2,000,950.00	Member	Buy
14:28:18	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.0038	(2,000,950.00)	Client	Sell
14:28:34	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.8994	7,899.40	Member	Buy
14:28:34	·	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.8994	(7,899.40)	Client	Sell
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9093	(158,186.00)		Sell
14:29:45	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	230	230,000	7.9095	(1,819,185.00)		Sell
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	7.9095	1,977,375.00	Client	Buy
14:30:31	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	7.9093	23,706.30	Member	Buy
14:30:31	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	7.9021	(23,706.30)	Client	Sell
14:30:31	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	7.9021	15,804.60	Member	Buy
14:32:19	\$ / R 18/06/2012 \$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	7.9023	(15,804.60)		Sell
	\$ / R 18/06/2012 \$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.9023	79,080.00	Member	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	7.9000	(15,820.00)		Sell
17.00.70	ψ. Ιζ 10/00/2012	i oroigii Excilange i utule		0.00	'	1,000	_	2,000	7.3100	(10,020.00)	Silcit	OCII

Page 9 of 13 2012/04/04, 06:31:26PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
14:36:49	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	7.9100	15,820.00	Member	Buy
14:36:50	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	7.9100	(15,820.00)	Client	Sell
14:36:50	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	7.9100	15,820.00	Member	Buy
14:36:50	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	18	18,000	7.9100	(142,380.00)	Client	Sell
14:36:50	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	18	18,000	7.9100	142,380.00	Member	Buy
14:36:51	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	7.9057	(15,811.40)	Client	Sell
14:36:51	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	7.9057	15,811.40	Member	Buy
14:39:54	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	7.9060	15,812.00	Member	Buy
14:39:54	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	7.9060	(15,812.00)	Client	Sell
14:50:25	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.9060	39,530.00	Client	Buy
14:50:25	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.9060	(39,530.00)	Member	Sell
14:55:26	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	6	6,000	7.9024	47,414.40	Member	Buy
14:55:26	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	6	6,000	7.9024	(47,414.40)	Client	Sell
14:56:09	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	12	12,000	7.9024	94,828.80	Member	Buy
14:56:09	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	12	12,000	7.9024	(94,828.80)	Client	Sell
14:56:16	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9024	(158,048.00)	Client	Sell
14:56:16	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.9024	158,048.00	Member	Buy
14:56:17	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	18	18,000	7.9024	(142,243.20)	Client	Sell
14:56:17	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	18	18,000	7.9024	142,243.20	Member	Buy
14:58:59	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.9000	(790,000.00)	Client	Sell
14:58:59	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.9000	790,000.00	Member	Buy
14:58:59	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	19	19,000	7.9000	(150,100.00)	Client	Sell
14:58:59	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	19	19,000	7.9000	150,100.00	Member	Buy
15:01:50	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	7.9020	15,804.00	Member	Buy
15:01:51	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	18	18,000	7.9020	142,236.00	Member	Buy
15:01:56	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.9025	39,512.50	Member	Buy
15:01:56	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.9025	(39,512.50)	Client	Sell
15:05:41	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	7	7,000	7.9100	(55,370.00)	Client	Sell
15:05:41	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	7	7,000	7.9100	55,370.00	Member	Buy
15:14:24	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	7.9029	15,805.80	Member	Buy
15:14:24	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	7.9029	(15,805.80)	Client	Sell
15:14:24	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	13	13,000	7.9023	102,729.90	Member	Buy
15:14:24	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	13	13,000	7.9023	(102,729.90)	Client	Sell
15:17:09	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.9020	79,020.00	Member	Buy
15:17:09	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.8946	78,946.00	Member	Buy
15:22:56	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.8946	39,473.00	Member	Buy
15:22:56	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	15	15,000	7.8946	(118,419.00)	Client	Sell
15:27:58	\$ / R 18/06/2012			0.00	1	1,000	13	1,000	7.8826		Member	
15:27:58	\$ / R 18/06/2012	Foreign Exchange Future Foreign Exchange Future		0.00	1	1,000	1	1,000	7.8826	7,882.60 (7,882.60)	Client	Buy Sell
15:32:29	\$ / R 18/06/2012	Foreign Exchange Future		0.00		1,000		20,000	7.8824	(157,648.00)		
15:32:29	\$ / R 18/06/2012	Foreign Exchange Future			1 1		20	20,000	7.8824	157,648.00)	Member	Sell
		· ·		0.00		1,000	20					Buy
15:32:29	\$ / R 18/06/2012 \$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8824	(157,648.00)	Client	Sell
15:32:29	\$ / R 18/06/2012 \$ / B 18/06/2013	Foreign Exchange Future		0.00	1	1,000	20 15	20,000	7.8824	157,648.00	Member	Buy
15:32:30	\$ / R 18/06/2012 \$ / B 18/06/2012	Foreign Exchange Future Foreign Exchange Future		0.00	1	1,000	15 15	15,000	7.8824	(118,236.00)	Client	Sell
15:32:30	\$ / R 18/06/2012 \$ / R 18/06/2012	•		0.00	1	1,000	15	15,000	7.8824	118,236.00	Member	Buy
15:40:07	φ/ K 10/U0/ZU1Z	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.8767	39,383.50	Member	Buy

Page 10 of 13 2012/04/04, 06:31:26PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
15:40:07	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.8767	(39,383.50)	Member	Sell
15:44:59	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.8666	39,333.00	Member	Buy
15:44:59	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.8666	(39,333.00)	Client	Sell
15:46:44	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.8687	786,870.00	Member	Buy
15:46:44	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.8687	(786,870.00)	Client	Sell
15:49:54	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.8686	39,343.00	Member	Buy
15:49:54	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.8686	(39,343.00)	Client	Sell
15:56:31	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	2,000	2,000,000	7.8753	15,750,600.00	Member	Buy
15:56:31	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	2,000	2,000,000	7.8753	(15,750,600.00)	Client	Sell
16:08:05	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.9810	(79,810.00)	Client	Sell
16:08:05	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.9810	79,810.00	Member	Buy
16:23:01	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8793	157,586.00	Member	Buy
16:23:01	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	60	60,000	7.8954	(473,724.00)	Client	Sell
16:27:45	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.0951	(2,023,775.00)		Sell
16:27:45	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.0951	2,023,775.00	Member	Buy
16:27:47	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.0951	(2,023,775.00)	Member	Sell
16:27:47	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.0951	2,023,775.00	Member	Buy
16:27:48	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.0951	(2,023,775.00)	Member	Sell
16:27:48	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.0951	2,023,775.00	Member	Buy
16:27:49	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.0951	(2,023,775.00)	Member	Sell
16:27:50	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.0951	2,023,775.00	Member	Buy
16:27:51	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.0951	(2,023,775.00)	Member	Sell
16:27:51	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.0951	2,023,775.00	Member	Buy
	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.0951	(2,023,775.00)		Sell
	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.0951	2,023,775.00	Member	Buy
16:27:53	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.0951	(2,023,775.00)	Member	Sell
16:27:53	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.0951	2,023,775.00	Member	Buy
16:27:54	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.0951	(2,023,775.00)	Member	Sell
16:27:54	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.0951	2,023,775.00	Member	Buy
16:27:55	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.0951	(2,023,775.00)		Sell
	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.0951	2,023,775.00	Member	Buy
16:27:57	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.0951	(2,023,775.00)	Member	Sell
16:27:57	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.0951	2,023,775.00	Member	Buy
16:27:58	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.0951	(2,023,775.00)	Member	Sell
16:27:58	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.0951	2,023,775.00	Member	Buy
16:27:59	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.0951	(2,023,775.00)		Sell
	\$ / R 14/12/2012 \$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.0951	2,023,775.00	Member	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	35	35,000	7.8900	(276,150.00)		Sell
		Foreign Exchange Future		0.00	1	1,000		35,000	7.8900	-		
	\$ / R 18/06/2012 \$ / R 18/06/2012			0.00	1	1,000	35 60	60,000	7.8935	276,150.00 473,610.00	Member	Buy
	\$ / R 18/06/2012 \$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	60 60	60,000	7.8935 7.8935		Member Client	Buy
		Foreign Exchange Future			1		60 10			(473,610.00)		Sell
16:35:24	\$ / R 18/06/2012 \$ / R 18/06/2012	Foreign Exchange Future		0.00		1,000	10 10	10,000	7.9000			Sell
	\$ / R 18/06/2012 \$ / B 18/06/2012	Foreign Exchange Future Foreign Exchange Future		0.00	1	1,000	10	10,000	7.9000	79,000.00	Member	Buy
	\$ / R 18/06/2012 \$ / B 18/06/2012	• •		0.00	1	1,000	25 25	25,000	7.9000	(197,500.00)		Sell
16:35:24	\$ / R 18/06/2012 \$ / B 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25 40	25,000	7.9000	197,500.00	Member	Buy
16:35:24	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	40	40,000	7.9000	(316,000.00)	Cilent	Sell

Page 11 of 13 2012/04/04, 06:31:26PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
16:35:24	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	40	40,000	7.9000	316,000.00	Member	Buy
16:35:24	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	7.9000	(31,600.00)	Client	Sell
16:35:24	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	7.9000	31,600.00	Member	Buy
16:35:25	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.9000	(790,000.00)	Client	Sell
16:35:25	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.9000	790,000.00	Member	Buy
16:36:21	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	15	15,000	7.9000	(118,500.00)	Client	Sell
16:36:21	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	15	15,000	7.9000	118,500.00	Member	Buy
16:37:59	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	7.8926	3,946,300.00	Member	Buy
16:38:00	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	7.8926	(3,946,300.00)	Member	Sell
16:45:55	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	7.8900	(31,560.00)	Client	Sell
16:45:55	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	7.8900	31,560.00	Member	Buy
16:46:21	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.9920	(399,600.00)	Client	Sell
16:46:21	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.9920	399,600.00	Member	Buy
16:51:03	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.0000	(80,000.00)	Client	Sell
16:51:03	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.0000	80,000.00	Member	Buy
17:05:20	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	750	750,000	7.9065	(5,929,875.00)	Member	Sell
17:07:38	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	75	75,000	8.0065	(600,487.50)	Member	Sell
17:07:38	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	750	750,000	7.9165	5,937,375.00	Client	Buy
Total Fut	ures				255		20,795	20,795,000		164,504,786.25		
Total Opt	ions											
Total for	\$ / R Foreign Exchange F	- Tuture			255		20,795	20,795,000		164,504,786.25		
11:27:55	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	12.4876	(24,975.20)	Member	Sell
11:27:55	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	12.4876	24,975.20	Client	Buy
12:21:25	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	12.5005	(125,005.00)	Client	Sell
	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	12.5005	125,005.00	Member	Buy
12:56:11	£ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	12.6700	(126,700.00)	Client	Sell
	£ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	12.6700	126,700.00	Member	Buy
13:36:46	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	81	81,000	12.5220	(1,014,282.00)	Client	Sell
13:36:46	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	81	81,000	12.5220	1,014,282.00	Member	Buy
13:51:30	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	12.5243	62,621.50	Member	Buy
13:51:30	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	12.5243	(62,621.50)	Client	Sell
14:44:29	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1,720	1,720,000	12.4980	21,496,560.00	Member	Buy
14:44:29	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1,720	1,720,000	12.4980	(21,496,560.00)	Client	Sell
16:50:04	£ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	950	950,000	12.6950	(12,060,250.00)	Member	Sell
16:50:04	£ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	200	200,000	12.6950	2,539,000.00	Client	Buy
16:54:04	£ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	12.6950	634,750.00	Client	Buy
16:54:04	£ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	170	170,000	12.6950	2,158,150.00	Client	Buy
16:54:04	£ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	60	60,000	12.6950	761,700.00	Client	Buy
16:54:04	£ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	300	300,000	12.6950	3,808,500.00	Client	Buy
	£ / R 17/09/2012 £ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	170	170,000	12.6950	2,158,150.00	Client	Вuy
10.54.04	£11X 11/03/2012	roreign Exchange Future		0.00	1	1,000	170	170,000	12.0950	2,100,100.00	Ciletti	ьuy

Page 12 of 13 2012/04/04, 06:31:26PM

Matched Contrac	t Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
Total Futures					10		2,778	2,778,000		34,910,393.70		
Total Options												
Total for £ / R Foreign Exchange Future					10		2,778	2,778,000		34,910,393.70		
12:19:37 ¥ / R 18/0	6/2012	Foreign Exchange Future		0.00	1	100,000	500	50,000,000	0.0960	(4,800,000.00)	Member	Sell
12:20:05 ¥ / R 18/0	6/2012	Foreign Exchange Future		0.00	1	100,000	500	50,000,000	0.0960	(4,800,000.00)	Member	Sell
12:25:50 ¥ / R 18/0	6/2012	Foreign Exchange Future		0.00	1	100,000	500	50,000,000	0.0961	(4,805,000.00)	Member	Sell
12:25:50 ¥ / R 18/0	6/2012	Foreign Exchange Future		0.00	1	100,000	300	30,000,000	0.0961	2,883,000.00	Client	Buy
12:27:49 ¥ / R 18/0	6/2012	Foreign Exchange Future		0.00	1	100,000	25	2,500,000	0.0960	240,000.00	Member	Buy
12:27:49 ¥ / R 18/0	6/2012	Foreign Exchange Future		0.00	1	100,000	25	2,500,000	0.0960	(240,000.00)	Client	Sell
14:29:07 ¥ / R 18/0	6/2012	Foreign Exchange Future		0.00	1	100,000	5	500,000	0.0955	(47,750.00)	Client	Sell
14:29:07 ¥ / R 18/0	6/2012	Foreign Exchange Future		0.00	1	100,000	5	500,000	0.0955	47,750.00	Member	Buy
14:29:07 ¥ / R 18/0	6/2012	Foreign Exchange Future		0.00	1	100,000	7	700,000	0.0955	(66,850.00)	Client	Sell
14:29:07 ¥ / R 18/0	6/2012	Foreign Exchange Future		0.00	1	100,000	7	700,000	0.0955	66,850.00	Member	Buy
17:11:16 ¥ / R 18/0	6/2012	Foreign Exchange Future		0.00	1	100,000	110	11,000,000	0.0961	1,057,100.00	Client	Buy
17:11:17 ¥/R 18/0	6/2012	Foreign Exchange Future		0.00	1	100,000	90	9,000,000	0.0961	864,900.00	Client	Buy
Total Futures					6		1,037	103,700,000		9,959,600.00		
Total Options												
Total for ¥ / R Foreign Exchange Future					6		1,037	103,700,000		9,959,600.00		
8:52:26 € / R 18/0	6/2012	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	10.3182	(10,318,200.00)	Member	Sell
8:52:26 € / R 18/0	6/2012	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	10.3182	10,318,200.00	Client	Buy
12:28:18 €/R 18/0	6/2012	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	10.3825	(10,382,500.00)	Member	Sell
12:28:18 € / R 18/0	6/2012	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	10.3825	10,382,500.00	Client	Buy
Total Futures					2		2,000	2,000,000		20,700,700.00		
Total Options												
Total for € / R Foreign Exchange Future					2		2,000	2,000,000		20,700,700.00		
Total Futures					273		26,610	129,273,000		230,075,479.95		
Total Options												
Grand Total for all Instruments					273		26,610	129,273,000		230,075,479.95		